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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 8,002 2) 3,004 3) 4,007 4 9,001
-4,125 -1,580 - 2,985 -_1,215 5
3.
4,
5 4,005 6) 8,004 7 7,001 8 4,005 >
- 836 -1,637 -5,3%3 -1,109 6
7.
8.
9 1,003 10) 8,004 1) 2,003 12) 7,003 9.
- 545 -4,126 -1,104 -5,812
E— E— E— — 10.
11.
12.
13) 6,007 14) 3,004 15) 4,007 16) 5,009 13.
- 5,881 -2,643 -1,641 -4,590
- - - o 14.
15.
16.
17) 4,001 18) 6,005 19) 5,008 200 7.007 17
- 312 -4,882 -1,681 —_1,731
18.
19.
20.
1-10 [95][90[85]80[75] 70]65]60] 55 50
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 3,877
1) 8,002 2 3,004 3 4,007 4 9.001
- 4,125 - 1,580 -2.985 - 1,215 , 1,424
3,877 1,424 1,022 7.786
3 1,022
4 7.786
5 4,005 6) 8,004 7 7,001 8 4,005 > 3,169
. 836 -1,637 - 5,353 -1,109 . 6,367
3.169 6.367 1,648 2 896
. 1,648
8 2,896
9 1,003 100 8 004 1) 2 003 12 7003 9, 458
. 545 -4.126 -1.,104 - 5,812 2578
458 3.878 899 1,191 10 ’
1. 899
12. 1,191
13) 6,007 14 3,004 15) 4,007 16) 5,009 13, 126
5,881 - 2.643 -1,641 - 4,590
126 361 2 366 419 . 361
15, 2,366
. 419
1) 4,001 18) 6,005 19 5,008 200 7,007 7 3,689
- 312 - 4,882 -1,681 -1,731
3,689 1,123 3,327 5,276 18, 1,123
o 3,327
0 5276
1-10 195(90(85|80| 7570|6560 |55 |50
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C:# Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
1,648 3,878 458 899
3,877 1,191 3,169 6,367 1.
7,786 2,896 1,424 1,022
2,
1) 8,002 2) 3,004 3 4,007 3.
-4,125 - 1,580 - 2,985
- - - 4.
5.
6.
7.
4 9,001 5 4,005 6) 8,004
-1,215 - 836 -1,637 8.
9.
10.
11.
7,001 8 4,005 9 1,003 12
- 5,353 -1,109 - 545
100 8,004 11) 2,003 12) 7,003
-4,126 -1,104 -5,812
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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